        Lower limits:Q1-1.5 x (IQR)

        Upper limits: Q3+1.5x(IQR)

The IQR are suspected outliers. The following heights in inches were recorded in the classroom.

65     72     68     64     60     55     73     71     52     63     61     74

69     67     74     50     4       75     67     62     66     80     64     65

a) I have to make a box and whisker plot and find value of the interquartile range(IQR)

b) Multiply IQR by 1.5 to find lower and upper limits and state if there are any values below the lower limit.

I know the interquartile range is q3-q1. First I range data from smallest to largest and find median.

4       50       52       55     60     61       62       63       64       64       65     65

66     67       67       68     69     71       72       73       74       74       75     80

the median is 65+66/2=98

 where do I go from here?

